


[I. Rozwiaz krzyzowke.
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1. She has purple hair. 1. Someone who isn't tall.
2. Someone who exercises and isn't fat. 2. Someone who isn't fit.
5. He doesn't have a beard. 3. His hair isn't short.
He hasa . 4. They are very funny. They put flowers
6. A person who has yellow hair. in their :
7. Awoman who is very good looking. é. Her eyes are
9. Her face is : 7. A person who has no hair.

8. His face is

Czekam na Wasze odpowiedzi, przeslane na adres
mailowy: urszula.szczepanek@psp17.radom.pl, do konca

pazdziernika 2024r.

Temat wiadomosci: Konkurs zestaw 1, imie,
nazwisko i klasa
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